



DELIVERY DUE DATE: 2 6 OCT 2024

Tel. No., 045-606-8142/606-8157

LTE BIOMEDICAL SOLUTIONS

Road 6 Del Rosario, San Fernando City, Pampanga Address

Merchandising Type of Business: 256-281-752-000 VAT REAL TIN No.:

0965-193-5770 Tel No.:

PO No.:

2024-06-238 2024-574

Date

PE No.

9/13/2024

Mode of Procurement.

Small Value

territories.

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: TARLAC STATE UNIVERSITY  Date of Delivery:		Delivery Term: Payment Term:		30 Calendar days N/30	
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
1	bottle	ISOPROPYL ALCOHOL, Alcoright, 70% solution (500mi)	170	88.00	14,960.00
- 10	piece	CANNULA, IV, Gauge, 20, Exp. Date not less than 2yrs	30	25.00	750.00
19	piece	ELASTIC BANDAGE, Partners, Brown 2"	200	32.00	6,400.00
20	piece	ELASTIC BANDAGE, Partners, Brown 4"	50	38.00	1,900.00
24	pair	FORCEPS, Kelly, Curve, 5.5 Inches	3 1	210.50	631.50
25	piece	FORCEPS, Kelly, Curve, 7 Inches	1 1	618.16	1,854.48
26	piece	FORCEPS, Kelly, Straight, 5.5 inches	1	210.50	631.50
27	piece	FORCEPS, Kelly, Straight, 7 Inches	3	618.16	1,854.48
30-	piece	FORCEPS, Thumb	3	199.50	598.50
31	piece	FORCEPS, Tissue	3	210.00	630.00
32	piece	GAUZE PAD, Eye Patch (Exp. Date not less than 2yrs)	50	13.75	687.50
33	box	GAUZE PAD, Sureguard/Partners, Sterile 2x2, 100pcs/box (Exp. Date not less than 3yrs)	3	300.00	900.00
34	box	GAUZE PAD, Sureguard/Partners, Sterile 4x4, 100pcs/box (Exp. Date not less than 3yrs)	*	500.00	2,000.00
37	piece	GLOVES, Sterile, Size 7.5 (Exp. Date not less than 3yrs)	10	24.00	240.00
39	plece	HOT WATER BAG, 1000ml	10	130.00	1,300.00
40	piece	HOT WATER BAG, 500mil	to	105.00	1,050.00
41	piece	INFUSION SET, IV, Macroset (Exp. Date not less than 2yrs)	10	35.00	350.00
42	piece	INFUSION SET, IV. Microset (Exp. Date not less than 2yrs)	10	35.00	350.00
		Sub-total.			37,087.96

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for nonexpendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Conforme:

LTE BIOMEDICAL SOLUTIONS (Signature over printed name & date)

Bank Account Name:

LIE BIDITEDICAL SOLUTIONS

Bank Account Number:

9920-025-99

Bank Name: Bank Address: BANK OF THE PHELIPPINE ISLANDS

SAN FERHANDO CITY, PAMPANGA

Funds Available:

No.: TSU-PRO-SF-09

JASPERA-YAUDER, CPA Budget Officer

Revision No. 03

ALOBS No. : 17 - 204-41 - 2014-27 - 1940

Amount: 42. NJ .41

Effectivity Date: August 24, 2020

Very truly yours.

Page 1 of 2





DELIVERY DUE DATE:

2 6 UCI 2024

Tel No. 045-606-81427-606-8157

Supplier: LTE BIOMEDICAL SOLUTIONS

Address Road 6 Del Rosario, San Fernando City, Pampanua

Type of Business: Merchandising 258-281-752-000 VAT Reg. TIN No. :

0965-193-5770 Tel. No.:

PR No. Mi No. 2024-06-238

Date

2024-574 9/13/2024

Small Value

Mode of Procurement.

Gentlemen

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: IARLAC STATE UNIVERSITY Date of Delivery:		Delivery Term: Payment Term:		30 Calendar days N/30	
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
44	piece	Balance Forwarded: NASAL CANNULA, For non-toxic PVC Compound, 1.8 meters of non-kink star lumen PVC tubing Nasal prongs made of soft PVC	50	55.50	37,087.96 2,775.00
53	Dicce	SCISSOR, Mayo Curve	1 3 1	197,50	592.50
71	box	SYRINGE, Sureguard, 1cc, Luer Lock with needle (Exp. Date not less than 3yrs)	2	400.00	800.00
72	box	SYRINGE, Sureguard, 3cc, Luer Lock with needle (Exp. Date not less than 3yrs)	2	450.00	900.00
		Purpose: Medical and Dental Supplies and Materials - APP 1st Quarter 2024			42.155.46

(Total Amount in Words) Forty-Two Thousand One Hundred Fifty-Five Pesos and Forty-Six Centavos Only

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for monexpendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one tenth (1/10) of one percent for every day of delay shall be imposed

Conforme:

Very truly yours,

D E. VELASCO

LTE BIOMEDICAL SOLUTIONS

(Signature over printed name & date)

Bank Account Name:

LTE BEDMEDICAL SOLUTIONS

9920. 8035.99 Bank Account Number:

Rank Name:

BANK OF THE PHOUSPPINE ISLANDS

SAM FRANANDO COTY PAMPANGA

Bank Address: Funds Available.

No. TSU-PRO-SE-09

IASPERA-YAUDER CPA

Budget Officer

ALOBS No.: 17 July 4 my og - 2560

Amount: 42, 155.46

Effectivity Date: August 74, 2020







26 OCT 2024 **DELIVERY DUE DATE:** 

Procurement Unit

Tel. No.: 045-606-8142/606-8157

LTE BIOMEDICAL SOLUTIONS Supplier:

Address: Road 6 Del Rosario, San Fernando City, Pampanga

Type of Business: Merchandising 258-281-752-000 VAT Reg. TIN No.:

Tel. No.: 0965-193-5770 PR No.:

2024-06-238

PO No.:

2024-574

Date:

9/13/2024

Mode of Procurement:

**Small Value** 

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: <u>TARLAC STATE UNIVERSITY</u>		Delivery Term:		30 Calendar days	
Date of Delivery:		Payment Term:		N/30	
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
1	bottle	ISOPROPYL ALCOHOL, Alcoright, 70% solution (500ml)	170	88.00	14,960.00
10	piece	<b>CANNULA,</b> IV, Gauge, 20, Exp. Date not less than 2yrs	30	25.00	750.00 -
19	piece	ELASTIC BANDAGE, Partners, Brown 2"	200	32.00	6,400.00 -
20	piece	ELASTIC BANDAGE, Partners, Brown 4"	50	38.00	1,900.00
24	pair	FORCEPS, Kelly, Curve, 5.5 inches	3	210.50	631.50 -
25	piece	FORCEPS, Kelly, Curve, 7 inches	3	618.16	1,854.48
26	piece	FORCEPS, Kelly, Straight, 5.5 inches	3	210.50	631.50 -
27	piece	FORCEPS, Kelly, Straight, 7 inches	3	618.16	1,854.48 _
30	piece	FORCEPS, Thumb	3	199.50	598.50 -
31	piece	FORCEPS, Tissue	3	210.00	630.00 -
32	piece	GAUZE PAD, Eye Patch (Exp. Date not less than 2yrs)	50	13.75	687.50~
33	box	GAUZE PAD, Sureguard/Partners, Sterile 2x2, 100pcs/box (Exp. Date not less than 3yrs)	3	300.00	900.00-
34	box	GAUZE PAD, Sureguard/Partners, Sterile 4x4, 100pcs/box (Exp. Date not less than 3yrs)	4	500.00	2,000.00 ^
37	piece	GLOVES, Sterile, Size 7.5 (Exp. Date not less than 3yrs)	10	24.00	240.00
39	piece	HOT WATER BAG, 1000ml	10	130.00	1,300.00
40	piece	HOT WATER BAG, 500ml	10	105.00	1,050.00
41	piece	INFUSION SET, IV, Macroset (Exp. Date not less than 2yrs)	10	35.00	350.00 -
42	piece	INFUSION SET, IV, Microset (Exp. Date not less than 2yrs)	10	35.00	350.00 /
	,	Sub-total:			37,087.96

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for nonexpendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Conforme:

## LTE BIOMEDICAL SOLUTIONS

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

No.: TSU-PRO-SF-09

JASPER A. YAUDER, CPA

Revision No. 03

**Budget Officer** 

Very truly yours,

DR. ARN

ALOBS No.: 02-24241. 22-09-19 Coo Amount: 42, 101-42.

D E. VELASCO

esident

Effectivity Date: August 24, 2020

Page 1 of 2



## **PURCHASE ORDER**

DELIVERY DUE DATE: 2 6 OCT 2024

Tel. No.: 045-606-8142/606-8157

Supplier: LTE BIOMEDICAL SOLUTIONS

Address: Road 6 Del Rosario, San Fernando City, Pampanga

Type of Business: Merchandising 258-281-752-000 VAT Reg. TIN No.:

Tel. No.: 0965-193-5770 PR No.:

2024-06-238

PO No.:

2024-574 9/13/2024

Date: Mode of Procurement:

Small Value

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: TARLAC STATE UNIVERSITY  Date of Delivery:		Delivery Term: Payment Term:		30 Calendar days N/30	
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
44	piece	Balance Forwarded: NASAL CANNULA, For non-toxic PVC Compound, 1.8 meters of non-kink star lumen PVC tubing Nasal prongs made of soft PVC	50	55.50	<b>37,087.96</b> 2,775.00 <
53 71	piece box	SCISSOR, Mayo Curve SYRINGE, Sureguard, 1cc, Luer Lock with needle (Exp. Date not less than 3yrs)	3 2	197.50 400.00	592.50 800.00
72	box	SYRINGE, Sureguard, 3cc, Luer Lock with needle (Exp. Date not less than 3yrs)  ***********************************	2	450.00	900.00 <u>42,155.46</u>

(Total Amount in Words) Forty-Two Thousand One Hundred Fifty-Five Pesos and Forty-Six Centavos Only

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for nonexpendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Conforme:

Very truly yours,

LD E. VELASCO

LTE BIOMEDICAL SOLUTIONS

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

JASPER A. YAUDER, CPA

**Budget Officer** 

No.: TSU-PRO-SF-09 Revision No. 03

ALOBS No.: 02 - 2064 41-204-89- 2760

Amount:

Effectivity Date: August 24, 2020

Page 2 of 2